Statistics for Expression comparison: CO2 challenged Juvenile C. gigas

Genes: EF1, Prx6, HIF, MDR

Two-tailed t-test of sample means

Ho: u1=u2

Ha: not equal

Where 1 = challenged oysters

2 = control

t obs = (|x1-x2|-delta)/s x1-x2

s x1-x2 = sqrt(s2p(1/n1 + 1/n2))

s2p=(n1-1)s21+(n2-1)s22/n1+n2-2

n1=8

n2=8

mean 1 = 

mean 2 = 

stats performed on averaged normalized expression values

Unequal Variances
Welch Two Sample t-test

data:  CO2$Prx6 and control$Prx6 

t = 0, df = 12.457, p-value = 1

alternative hypothesis: true difference in means is not equal to -0.02614736 

95 percent confidence interval:

 -0.03830741 -0.01398730 

sample estimates:

 mean of x  mean of y 

0.01496550 0.04111286

Welch Two Sample t-test

data:  CO2$HIF and control$HIF 

t = 0, df = 8.499, p-value = 1

alternative hypothesis: true difference in means is not equal to -0.0003257544 

95 percent confidence interval:

 -5.892112e-04 -6.229759e-05 

sample estimates:

   mean of x    mean of y 

0.0001980339 0.0005237883

Welch Two Sample t-test

data:  CO2$MDR and control$MDR 

t = 0, df = 10.179, p-value = 1

alternative hypothesis: true difference in means is not equal to -6.853913e-05 

95 percent confidence interval:

 -0.0002649699  0.0001278917 

sample estimates:

   mean of x    mean of y 

0.0003932471 0.0004617863

Assuming Equal Variances

data:  CO2$Prx6 and control$Prx6 

t = 0, df = 14, p-value = 1

alternative hypothesis: true difference in means is not equal to -0.02614736 

95 percent confidence interval:

 -0.03816627 -0.01412844 

sample estimates:

 mean of x  mean of y 

0.01496550 0.04111286

data:  CO2$HIF and control$HIF 

t = 0, df = 14, p-value = 1

alternative hypothesis: true difference in means is not equal to -0.0003257544 

95 percent confidence interval:

 -5.733003e-04 -7.820841e-05 

sample estimates:

   mean of x    mean of y 

0.0001980339 0.0005237883

Two Sample t-test

data:  CO2$MDR and control$MDR 

t = 0, df = 14, p-value = 1

alternative hypothesis: true difference in means is not equal to -6.853913e-05 

95 percent confidence interval:

 -0.0002580727  0.0001209944 

sample estimates:

   mean of x    mean of y 

0.0003932471 0.0004617863

